‘o =]
W72 R720UT - UHCTpYKLIMA- AMG@TEXD%
TPYNINA KOMNAHMA B U/
= . . *
S R LT TR st e e LS S () ¢ BETPOCHHLIM
§ E’Iil EZKOuMeIfAySM YTOGBI yCTaHOBKEOCylu(EECg‘}Z(;IﬂﬂaCb KBaJ‘[HCl)IgLUZpOBaHHbIMrl[/l cmp?/ZHMKaMH. Ir/ll}v,:ngnbs}éﬁ};e TOJIBKO a}cceccy;;blgeKOMeHm})’B;H:ble BITOHN nyﬁnukauu};. : A TOpMO30M
g ﬂgoﬁ};BouuTenb He Hez’::{lr OT:eTpCT}l;EHll)-IOCTb;SCJII;‘{ae ec/iu (;FpaHl/I‘{EHHH 6blﬂi npoanopnp()]faHbl PlpeKOl\};eHIZ[OBaHHbIe aKcecc@apm I-;e KCII0JIb30BaHbl, @ TaK)Ke HHCTPYKLIMH 110 yCTaHOBKE, JJaHHbIE B p= 0,57XPMaKC P= 0,83XPMaKC
o 3TOM l'Iy6JIl/[KaI_ll/II/l, BbIIIOJIHEHbI HE [TOJIHOCTBHO
3 3000 3000 3000
S / 160 2000 160/160{160/160/160|{160/160|160|160/149/134/122) /| 200 2900 200|200|200(200{200/200|200|200|200|186|168|152 220 9900 220(220|220(220|220|220|220|220(220|205|185|167
x2 X3- x4
Kr 2800 160/160|160|160|160|160|160|160|/160|141|128|118 Kr 2800 200/200/200|200/200|200/200|200({200|176|160|148 Kr 2800 220|220/220|220|220|220/220/220|220|194|176|163
9700 160/160|160|160|160|160|160|160|149|133|122|114 2700 200(200/200|200/200/200/200/200|186|166|152|142 2700 220|220/220|220|220|220|220|220|205|183|167|156
2600 160|/160|160|160|160|160|/160|160|141|126|115|109 2600 200|200/200|200/200|200/200|200(176|158|144|136 2600 220|220/220|220|220|220|220|220(194|174|158|150
2500 160/160|160|160|160|160|/160|149/133|120|110|104 (*) 2500 200/200/200|200/200|200|200|186|166|150(138|130 (*) 2500 220|220/220|220|220|220/220/205|183|165|152|143
2400 160(160|160/160|160|160(160|139/125|114/107|101 2400 200(200|200(200|{200/200|200|174(156|142|134|126 2400 220(220|220(220|220|220|220|191(172|156|147|139
2300 160(160|/160/160/160|160/149|130/118|109|102| 98 2300 200/200|200/200{200/200|186|162|148|136/128|122 2300 220(220|220(220|220/220|205|178|163|150/141|134
9200 160(160|/160/160/160|160|136(122/112|104| 98 | 94 2200 200/200|200(200|200/200|170|152|140|130/122|118 2200 220(220|220(220|220|220|187|167(154|143|134|130
2100 160(160|/160/160/160|146/128|115/107|101| 94 | 91 2100 200/200|200(200|200/182|160|144(134|126|118|114 2100 220(220|220(220|220/200|176|158|147|139/130|125
2000 160/160|160|160|160|136|120|109|102| 96 | 91 | 88 2000 200/200/200|200/200|170|150|136(128|120|114|110 2000 220|220/220|220|220|187|165/150|141|132|125|121
1900 160|160|160(160|146(126|/114|104| 98 | 93 | 88 | 85 1900 200/200/200|200/182|158/142|130(122|116|110|106 1900 220|220/220|220|200|174|156|143|134|128|121|117
1800 160|160|160(160|293|117/107{ 99 | 93 | 90 | 85 | 83 1800 200/200/200|200|366|146|134|124|116|112|106|104 1800 220|220/220|220|403|161|147|136(128|123|117|114
1700 160(160|/160]144/123|110/101| 94 |90 | 86| 83| X 1700 200(200|200(180|154|138|126|118(112|108|104| X 1700 220(220|220(198|169/152|139|130(123|119|114| X
P 1600 160(160/160/131|114|104/96 |91 |86 |83 | X | X 1600 200(200|200(164|142|130(120|114|108|104| X | X 1600 220(220|220(180|156/143|132|125(119|114| X | X
0 1500 160(160|/142/120{107{ 98 191 |86 |83 | X | X | X 1500 200(200|178|150|134|122|114/108(104| X | X | X 1500 220(220|196|165|147|134|125|119(114| X | X | X
1400 160(160|/128/110{101|93 |88 |83 | X | X | X | X 1400 200(200|160(138|126/116|110|104| X | X | X | X 1400 220(220|176(152|139/128|121|114| X | X | X | X
5Y 160(141|117/102/94 |88 |83 | X | X | X | X | X 200(176|146|128|118/110(104| X | X | X | X | X 220(194/161|141|130/121|114| X | X | X | X | X
w1300 1300 1300
o nl 160(125/107/96 |90 |83 | X | X | X | X | X | X 200|156|134/120|112/104| X | X | X | X | X | X 220(172|147)132|123|114| X | X | X | X | X | X
7% m 1200 m 1200 m 1200
o O O 9 O 99 O O 9O OO o o o o O O 9 O 99 O O 9O O o o o o O O 9 O 9 O O 9O O o o o
o O O O O ©O O O O O o o©O o o O O O O © O O O O o o©O o o O O O O ©O O O O O o oo o
we ~ = s -8 e 3I e er e we ~ ® 2 g8 2 F e 2k we ~ ® -8 e 3I e er e
A V]
HIRASH 1 oue N - A
3
A N I
I N A
A \ 4
A
X 135)
e} I N 1o A
NA ! A
v ! \%
1- OTBeTka pamHas b 4 : d
2- Brynku i
3- PamHble netnn 5t ——
Y 4- BpXHUA/HWDKHUIA drKkcaTop i
/ S 5- bontbl M6x25 11- CTBOpOYHasA netns 1 L/ = :
Y & " 6- BonTbl 4,2x32 12-OTBeTKa CTBOpOYHas === rl i
s 9 /1 \ 7- WapukonoawmnHmk 13-Pe3bboBon wtndt M6x8 L = 0B .
b3 \ A ) 8- bonTbl 3,9x16 14-BokoBon dukcaTop 4”6'2 @6} i ,I‘J
N 9- b M8x40 15-Y, —>u<f : d
A ~— 10-@?%Tmelp);| 16-Pg?}?r?;”plac)aalgiajﬁngz:sgsT no BbICOTE < 49.9 > 499 |

-1/2 -




- UHCcTpyKLIMA- Am,@,‘?ﬁ% %

pd )3, ]
\‘-,' {4

T300

B
9 %} makc 10Nm

B

| @
%@

____________

P

QT30
makc 10Nm

T20 Q
Makc 4Nm

A.2

n 1S04029

M4X10

o

Ha Bcex netnsix
OOHOBPEMEHHO

T15Q

Makc 4Nm

2,5

makc 10Nm

g | .
I[P [
il ™ / f- < Va,/ | .'/ RNz
g |
Makc 4Nm

-2/2 - 104980000AX/01-2014

Makc 4Nm




